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QUESTION 1

An architect is preparing a design for a customer. Based on requirements, the architect recommends an HCI-based
infrastructure with all-flash architecture. During the assessment, it is confirmed that the network throughput generated
by virtual machines does not exceed 150 Mb/s. 

What is the minimum number and type of network adapters in each server that the architect can recommend to ensure
requirements are met and there is no single point of failure? 

A. Two 1 GbE network adapters per server 

B. Four 1 GbE network adapters per server 

C. Four 10 GbE network adapters per server D. Two 10 GbE network adapters per server 

Correct Answer: C 

 

 

QUESTION 2

Which requirement would be classified as a functional requirement within the design documentation? 

A. The system must perform virtual machine backups through an API. 

B. Virtual machines must be patched within one month of the patch release date. 

C. Virtual machines must be restarted within 30 minutes of a host failure. 

D. The system must be able to scale to support 500 concurrent virtual machines. 

Correct Answer: C 

 

 

QUESTION 3

Application owners require support of a Microsoft Windows Server Failover Cluster (WSFC). 

Their current environment consists of the following components: vSphere 7.0 and vSAN 7.0 External array supporting
NFS 3.0/4.1, Server Message Block (SMB) 2.1 10 GbE storage connectivity for all devices 

The solution architect is tasked with coming up with a solution to meet this requirement while utilizing their existing
investments. 

Which two recommendations could the architect make? (Choose two.) 

A. Use vSAN native support for WSFC 

B. Use NFS 4.1 shares for quorum and shared disk 
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C. Use raw device mapping (RDM) 

D. Use the SMB 2.1 protocol for sharing disks 

E. Run WSFC on vSAN iSCSI Target Service 

Correct Answer: AD 

 

QUESTION 4

Which two of the listed requirements would be classified as performance non-functional requirements? (Choose two.) 

A. The vSphere platform must be able to provide a recovery time objective of 30 minutes 

B. The vSphere platform must be able to provide a minimum throughput of 400 MB/s 

C. The vSphere platform must be able to provide N+1 redundancy 

D. The vSphere platform must be able to provide a maximum read latency of 15 ms 

E. The vSphere platform must be able to provide a service-level agreement (SLA) of 99,9% 

Correct Answer: AD 

 

QUESTION 5

An architect is designing a VMware software-defined data center (SDDC) solution based on the following customer
requirements: The solution must initially support 1,000 virtual machines The solution must scale to support the
concurrent running of up to 5,000 virtual machines The production environment should be delivered across two data
centers The solution should have a maximum tolerable downtime (MTD) of four hours The solution should have a
monthly service availability target of 99.8% 

Which two assumptions could the architect make based on the information from the customer to help size the solution?
(Choose two.) 

A. The number of vSphere hosts in a cluster 

B. The average resource utilization of a virtual machine 

C. The size (CPU/RAM/storage) of the average virtual machine 

D. The guest operating system for each virtual machine 

E. The size (CPU/RAM/storage) of the vSphere hosts 

Correct Answer: AE 
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